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Topic:- GENERAL HINDI

1) ‘il SIS A ARG ¥ F RIT T Treg ST -
1. DRI

2. SFRHUNY
3. 3HIUNY

4. STHRUMY

Correct Answer :-

2) Fgfa &1 faey <reg T 32
1. AT
2. TR

3. bR
4. T

Correct Answer :-

3) fr=1 fawredl o & W&t ad=t &1 gATa Bifore?
1. URTG&T
2. fufven
3. ORI&T

4. gReM



Correct Answer :-

. Tden

4) grHd forar A A A fPayeR s1awr 82

1. SRl D did]

2. fayTarEs ar

3. Hbddrad i
4. FNYarS gt

Correct Answer :-

. FYyarE® g

5) <3mar T A FAffa g ® -
1. IR

2. UTaeT

3, T

4, Y1dl

Correct Answer :-

6) ‘dqg 1% UG UgH WRNI H I AT AAPR &2
1. SUHT 3TADR

2. BUD 3MABR

3. TAY ADBR

4. 3T 3ADR

Correct Answer :-

. 0D HADR



3.T9dg
4.

Correct Answer :-

8) RHUBINRU____ BI'sH I & o M ¥ S g W |
1. TIaT {TeRUT

2. T GRIR

3.

4. TTeT gQRTERU

Correct Answer :-

10) RIS 39 YoTax &1 el 3 Uehe H3 arer fapeq S A1 3?2
1. gt ot 91d A a1a
2. &S WY BT AT

3. foepd Fefsst

4. 9gd 8! WA gl

Correct Answer :-

. foepa s

Topic:- GENERAL ENGLISH



1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:

Let there be no bad blood between the two royal families.

1. illegitimate children
2. ill feelings
3. difference of opinion

4, villainous souls

Correct Answer :-
« ill feelings

2) A sentence with an underlined word is given below. Choose the correct option which is most similar in
meaning to the underlined word.

News commentator, Sunil Tandon, had to yell to be heard above the hubbub.

1. noise and confusion
2. argument
3. sports activity

4. loud music

Correct Answer :-

¢ noise and confusion

3) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

Either Ramesh or his brother ill and in hospital.
1.is

2. were

3. have been

4, are

Correct Answer :-

4) Out of the following four options, choose the incorrect sentence:

1. Faiz Ahmed was one among the nine precious gems in Akbar's court.

2. A ladies and the gents are keeping their money in purse and wallet, respectively.



3. Ploughing is done for the aeration of soil and manuring is done for the replenishment of soil.

4. Occupational diseases can be caused by "environmental factors" that are present in the workplace.

Correct Answer :-

« A ladies and the gents are keeping their money in purse and wallet, respectively.

5) Out of the following options, choose the most appropriate tense that best fills in to
complete the given sentence:

Every boy and every girl ____ given a gift.
1. was

2. are

3. were

4. have been

Correct Answer :-

6) Choose the option that correctly sequences the following sentences.

1. But inside the furnaces are humming and hot.

2. The factories rows and rows of them are surrounded by high walls.

3. Here, mountains of industrial garbage, including tones of discarded electronic products, are ripped apart,
smelted and processed daily.

4. Like the dark, satanic mills over the bleak landscape, their gates locked, the hand of industry apparently
stilled.

5. Spread over a radius of 6 km and employing an estimated 12,000 workers, this is a recycling hub at the
Mandoli Industrial Area in east Delhi.

1. 24135
2.45231
3.31425
4.13524

Correct Answer :-

« 24135

7) Choose the appropriate adverb clause from the options to complete the given sentence:

We eat .



1. so as to be living
2. so that to live
3. so that we may live

4. to live

Correct Answer :-

« so that we may live

8) Complete the sentence choosing the best option:
Her backache is so that she can hardly move.

1. decruciating
2. discruciating
3. exasperating

4, excruciating

Correct Answer :-
« excruciating

Topic:- GENERAL KNOWLEDGE

1) The Electoral Bonds Scheme announced in the Union Budget 2017-18 is intended to: /

P Toie 2017-18 ® G9ifvd frafea s diT FT3ERT @

1. Mobilize funds for conducting elections / -1d ST B o forg ¢F Tl

2. Bring greater transparency in funding of political parties / SIS Gl & fad avor § 31fere qﬂ?&h'f o1

3. Allow political parties to declare unaccounted funds / ISHIfd® gal &l ﬁwa‘rﬂ ¢ I HA DI 31_:[141%[
&l

4, Garner funds for implementing electoral reforms / Efﬂa:f HW P AN [ BB fore fAfY U et

Correct Answer :-

« Bring greater transparency in funding of political parties / ST gal o o<t arvor & SHfde TR Ridr al

2) The Automation of Registry of Commercial Taxes Appellate Board was introduced by the MP government in
the year ./

Fiforfu® &R srdielta 91 @ Ao} &1 waara=T af H A Yo PR gIRT Y= foam T

1. 2011



2.2013
3.2016

4. 2008

Correct Answer :-

« 2013

3) Easy accessibility services to the Cities of tourists’ interest in MP state are provided by the
air service provider. / THU I ® yded! @t v aTd g\ | T UET |ag Y JAT YGTdT §RT
e &1 At §1

1. Ventura Airconnect / a‘ﬂi ETCITchﬁTE
2. Indian Airlines / $[$09 TORASY

3. Jet Light / Sic @3¢
4. Jet Airways / S TRAW

Correct Answer :-

e Ventura Airconnect / a_r:R[ WTE

4) CANCELLED

Bhawani Prasad Mishra was a from Madhya Pradesh. /

AT YTe T A U A U Of
1. painter / TR
2. sitar player / RIARdTG®H

3. litterateur / W%W
4. classical singer / 3P ¥ TdHR

Correct Answer :-

« litterateur / W%W

5) CANCELLED

In which region of Madhya Pradesh the folk singing of ‘Phag’ is prevalent? /

Y & fFT &7 ¥ "BRT BT il T Ydferd 22
1. Chambal / Idd
2. Baghelkhand / TUTIUS



3. Malwa / HIdT
4. Nimar / |'>-|1:||3

Correct Answer :-

o Nimar/ |'>-|1:||3

6) India’s first atomic reactor was called ./ HIRd dT Ugdl UIHTY[ ﬁ'QTET
CagSIRIN

1. Dhruva / Yd
2. Kamini / BT
3. Zerlina / @Rl(x'l:il

4, Apsara / 3{GHRT

Correct Answer :-

o Apsara/ 3GRT

7) Name the eminent Indian Scientist who was awarded the prestigious ‘Lal Bahadur Shastri National
Award’ in 2011. /

39 ufaf¥d 4R a5 &1 = Fa1g, forg 2011 F ufaf¥a omer sg1ge A I R @
R fear T T

1. Dr. A.P.J. Abdul Kalam / €I. TS, 3fegdl hard
2. Prof. Yash Pal /Eﬁ. g qidd

3. G. Madhavan Nair / SI ATYT AR

4. C.N.R. Rao / ¥ U7 3R

Correct Answer :-

o Prof. Yash Pal / o). g uTd

8) In which year was Rajiv Gandhi Khel Ratna Award instituted? / g af A Ieig mih Qe = PRIPR
w1 fear war?

1. 1991-92
2. 1989-90
3. 1997-98

4. 1995-96



Correct Answer :-

« 1991-92

9) Who was fondly called ‘The Picasso of India’? / 59 R ¥ ‘YRd &1 fUsmaY Dol STl YT?
1. Tyeb Mehta / %?Tq’ ﬁﬁ?ﬂ

2. Raja Ravi Varma / XTIl g At

3. Jamini Roy /GlT&FﬁT\Iﬁq

4, M.F. Husain / TH U Ea:[

Correct Answer :-

« MF. Husain/@@cﬁ@:{

10) in Madhya Pradesh is the connection point between the gas pipelines from Gujarat to
Rajasthan. /

AT | TORTd | IR T TR UIguarg & dig s-a=H fag g1
1. Vijaipur / TaoRITqR
2. Bhopal/’-h'qm

3. Shahdol / TSI
4. Gwalior / TdTITIR

Correct Answer :-

« Vijaipur / faoRITQR

Topic:- GENERAL REASONING

1) Find the missing number: / &l ST {Td P
2,509,19,37,

1.73

2.78

3.75

4.76

Correct Answer :-

« 75



2) Find the average. / 3N Td HY|
86, 88,90, 72,76 & 74

1. 81

2.74

3.90

4. 88

Correct Answer :-

o 81

3) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /

= €t 1% e SreRY ud GBSl T SIHH AR Bl 8 | Ted Ao ugda |

(i) 96ZE45WE75
(i) 962E45WE75
(iiii) 96ZE45WE75

(iv) 96ZE45WE75

4, 1ii

Correct Answer :-

4) There are 17 students in a Hindi class and 30 students in an English class. Find the number of
students who are either in a Hindi class or in an English class, if the two classes meet at different hours
and 8 students are enrolled in both courses. /

&t 3 v Pam A 17 BT 3R 3T P Th Ham A 30 D &1 e S FETT -3 Tl IR fAadt & iR S
UTSUHHI A 8 BT AHiTPd &, df 39 BTl 1 ST JTd B Wl 1 a1 &I F&m & € a1 U 3ol pam A gl

1. 39
2.37

3.38



4. 40

Correct Answer :-

5) Which one of the following four addresses is NOT EXACTLY same as the one given
below? /

frafafed fiw 70 ar udl # 4 19 i3 T vd & St 90 319 91 U 61 82

Citibond Travel (London) Ltd
Freetrade House, Suite 28-29
Lowther Road

Stanmore, HA7 1EP

0116 216 1941

(i) Citibond Travel (London) Ltd
Frretrade House, Suite 28-29
Lowther Road

Stanmore, HA7 1EP

0116 218 1941

(ii) Citibond Travel (London) Ltd
Freetrade House, Suite 28-29
Lowther Road

Stanmore, HA7 1EP

0116 216 1941

(iii) Citibond Travel (London) Ltd
Freetrade House, Suite 28-29
Lowther Road

Stanmore, HA7 1EP

0116 216 1941

(iv) Citibond Travel (London) Ltd
Freetrade House, Suite 28-29

Lowther Road



Stanmore, HA7 1EP

0116 216 1941

4., iii

Correct Answer :-

6) FA=2, M=26andZ=52 then BET=?/df¢ A=2, M =26 3R Z =52, A BET = ?
1. 54
2. 44
3.64

4.72

Correct Answer :-

. 54

7) If Ram can do a piece of work in 9 days and Shyam can complete the same work in 6 days, then in how
many days will both of them together complete the work? /

i IH HTH F TP U B 9 f&1 & $3 JpdT 2 3R ¥ IH 14 Y 6 fe & T0d F i g, ot
3 S B TP 1Y HTH AT B34 A fHd=r I#7g awrm?

. 3% days/ ?%ﬁﬂ'

4Eda}'5f —1Eﬁ?|'
7 3 5

3 3
5 days/ 5—Teo
3 3

3.

5 5
3 days/ 3=fea
4, 3 3

Correct Answer :-
3 3
?rg days/ 3; Gl



Topic:- PEDAGOGY

1) CANCELLED

Which of the following can be taken as an example psychomotor domain in the context of teaching? /

ﬁm?ﬁaﬁﬁ%ﬁﬁaﬁqmmm@w%ﬁﬁmaﬁm%wﬁmm
Pl 22

1. Reciting a poem / T HIddl BT YIS BT

2. Performing an experiment / Y TN AT

3. Computing results of two experiments / &1 TR o UROTHT 1G0T =T
4, Narrating a story / Udh WFF[ CRIGIH

Correct Answer :-

o Performing an experiment / Y TORT AT

2) The general term for speech disorder due to brain damage is known as: /
AEqsH &l 3 T ATT AHATHAAT % 1T ITTNT AT ST ST 2158 59 T 8t
1. Aphasia / STETST 5§ BT (37HT)

2. Paresthesia / Ta&aa=(rertartarm)

3. Aphonia / aTRag AT (HRITAAT)

4. Astasia-abasia / TETR= T-3TaTHRIT

Correct Answer :-

« Aphasia / STATST & AT (THT)

3) A zygote is formed due to: /

TP gAY 9 & s fAfa g g:
1. Separation / YU

2. Fission / fag e

3. Fusion / @

4. Division / TAHToM

Correct Answer :-

« Fusion / 9dg



4) According to psycho-analytic theory, deviant behavior is caused due to: /

TIfazevuTS Rigid $ UR, faaferd saagr 9 & SR glarg:

1. Repressed desires of the individual / fdd Pl I & I & HRUI

2. Excessive desires of the individual / SRl 1 3BT HATYD G b HRUI
3. The presence of id, ego, and superego / U9, GH 3R guR g"'ﬁ P! IR &b BRI
4, Active unconscious process / qfhg 3feid- Ui & BRI

Correct Answer :-

« Repressed desires of the individual / fdd P B3 & GHA & HRU]

5) If a child writes 16 as 61 and gets confused between b & d, this is a likely case of: /
Tfe a1 16 B 61 for@ar & 3R b 3R d A YfAd gra1 8, 9 U8 GHad: SHPT AT &
1. Learning disability / 3T&TH 3{&HdT

2. Stress reaction / G&Td 1 Uldehal

3. Mental impairment / ARYE Srgaedd

4. Physical disability / TRIRD SH&HdT

Correct Answer :-

« Learning disability / 3{ETTH f&fTd

6) Who does NOT belong to the Psychoanalytical School of thought? /
g & @ 1 Rl & wHifaTayo o @ et T8 22

1. Jung / G

2. Solow / Tl

3. Freud / /1S

4. Adler / TSR

Correct Answer :-

« Solow / @?ﬁ

7) When Kohlberg’s and Piaget’s theories of moral reasoning were subjected to further research, it was
found that: /

oIe Bigatt a1 e & Afas ab wfda & Rigial wR mt vy B wan, a9 T aran



1. There is no relationship between level of cognitive development and moral reasoning /

IS [THT & TR T AT dhRIad b A Bis AaY ol 6|

2. They overestimated children’s moral reasoning capabilities /
I Tl BT Afde ddb Al B emarstt o1 sifieies-

3. They focused too much attention on children’s actions in a moral situations /
S e Rufarat & seal @t foramaif R srafies e i faan

4. They underestimated children’s moral reasoning capabilities /

361 Sl DI Afdd qdb Afad DI &SN BT < SHa (Tl
Correct Answer :-

« They underestimated children’s moral reasoning capabilities /

G- Ted! Bl Al db e 1 TS BT g b |

8) The aim of National Council for Teacher Education is: /

SrATIS Rremr & fore sty ulvg &1 A SE=u @:

1. to provide grants to colleges of education. /ﬁ% CANEIED] S{ald Ul bl

2. to promote research in teacher education. / &Y @T&‘I'UT H TNy &l Eh?\‘:ﬂ'%ﬁ DHAT|
3. to supervise and monitor colleges. / HIciol ol GHd&ur auT AR BT |
4, to open a college of education. ) QferF Bl @i

Correct Answer :-

« to promote research in teacher education. / &IUdH fRreror & WMy &I Fn?\‘:m%ﬁ DT

9) The two hemispheres of the brain are connected by a set of nerve fibers called J

AR P &) T, T dgeil b TP de 4 92 ga & e HEISET 2|
1. corpus callosum / HeTHaifoieT m m
2. limbic system / faftas Rew

3. cerebellum / SFIHRKTSD (AAH)

4. cerebrum / THRTSH (@m

Correct Answer :-

« corpus callosum / Wﬁfﬁ @N‘H Wﬂﬂ)



10) Erikson coined the term: /

TRea= A 59 ug &1 ufdurfed fean g:
1. Extravert / a%ﬁ@
2. Oedipus Complex / ST Hiidq

3. Identity Crisis / U8 &1 UPhe (IATZSfCc! HIRI)
4. Self-fulfilling Prophecy / T Eifad Hiasgarft

Correct Answer :-

« Identity Crisis / UgdT- I Hhc (\’ﬂl%gié?ﬂ Eb—lm)

11) National Council of Educational Research and Training was established in: /
ST AP SFHUTT 3R URI&or uikve ot wTeT 39 998 A g8:

1. 1960

2. 1962

3. 1961

4. 1963

Correct Answer :-

e 1961

12) Lowest order of Maslow Hierarchy of needs theory is: /

I & USTIpH Tavaddl Rigid &1 fFead wH 3:

1. Safety needs / R&T RICEBEE|IY

2. Esteem needs / G¥T 1 KIICEIEEN|IY

3. Self-Actualization needs / 3{TH-ARATIDH BT T JTH-TNY DY 3G HdId
4. Physiological needs / EEICEIREY 3TARID AT

Correct Answer :-

. Physiological needs / AFIAI® ATTIHATY

13) Which of the following is the domain of learning according to Bloom? /

= ¥ uR, Fafafea & @ o119 a1 siftrm s1 e 82
1. Professional / SATdTAd



2. Experimental / TR
3. Social / ITHIISTH
4, Affective / HIdTHD

Correct Answer :-

o Affective / HIATHD

14) Younger children can learn their subject faster if they are: /

Bie T= U+ fauy =1 aeht | dw 9wd § afe 37
1. Punished regularly. / F0ffa =0 9 <fsa fosar Sy
2. Disciplined properly. / Fa! &1 ¥ SRR fobaT ST |
3. Guided properly. / 31 ¥ S Rrd farar S|

4. Praised regularly. / O &0 ¥ U=y fobar S|

Correct Answer :-

 Guided properly. / 3o 1 &R fora V|

15) Which of the following categories of teachers tend to favour the traditional, formal seating pattern of rows
of students directly facing the teacher at the front of the class room?/

Frafafaa o 3 Riee) $1 $19 @ Joft wen & a3 iR Rigre $ % g H3d g SHl ot
Ufaal & URUR®, Ui 98+ & aiid & Ual  vgdt 82

1. Group discussion / HHg el

2. Direct instruction / Y& IBER]

3. Indirect instruction / {UIE& ﬁé:QT
4. Student-centered / W—W

Correct Answer :-

« Direct instruction / Ud&l IaéQl

Topic:- ECONOMICS

1) Oligopsony is ./
AETHATIDR gar 3

1. Market of two buyers / T WRIGER] BT TR

2. None of the above / dqi;idd e Oh\lir:lﬁ



3. Market of more than two buyers but limited to few / &l ¥ 3iftfh WRIGERT &1 TR s PO dobh Bl diftrd

4. Market of many sellers / 3F® TRIGER] BT TNTR

Correct Answer :-

o Market of more than two buyers but limited to few / ?ff T 3ifs R [ JHTd GIR dfea PO dh "G;T g

2) First Human Development Report was published in the year: /
ggat a4 faer Raé e af ¥ geiia ot 715 ot

1. 1990

2.1987

3. 1997

4. 1988

Correct Answer :-
e 1990

3) When goods are consumed or bought in whole number or non fractional units, consumers preferences are
called ./

mmﬁﬁqﬁ?mﬁ‘mw@ﬁwﬁnﬁmm%mmﬁam%a‘raqmﬁwmzr&lﬁm
CASIGIR

1. Cobb- Douglas preferences / PI-SITY EIT?I&IWT'Q
2. Discrete preferences / WUTU&IWTQ
3. Non discrete preferences /WEITU&IH’TCITQ

4. Quasi linear preferences /W DheUd EIT%@WTQ

Correct Answer :-

 Discrete preferences / WEITU&IWTQ

4) Long run average cost curve in modern theory is ./

3y Rigia ¥ w1 sivd @rTd a3 B gl
1. U- shaped / U-M@%W
2. L- shaped / L- 31'@%?5[

3. Vertical shaped / i dd H[HR DI

4. Saucer shaped / HCR B PR BT

Correct Answer :-



e L-shaped/L- &WI%TW

5) If the isoquant is L shaped it is known as: /

T Mg F@i< L & AMPR $1 8, d 39 A= & U A SHE1 S 8:
1. Input- output Isoquant / Fc-3M3cYc JHTHAadIT

2. Activity isoquant / qﬁﬁﬂ HE@WJ?

3. Convex Isoquant/m G{E@Tﬂ}l"_ﬁ

4. Linear Isoquant / IR G{E@Tﬁﬁf

Correct Answer :-

« Input- output Isoquant / 3°dc-3T3cYe 3MIHIFAIC

6) If Spearman’s co-efficient of rank correlation is equal to one, then: /
gfe wieRA $T1 Avft We-TdY Ulie TH & SRIER §, al

1. All the ‘total variation’ is ‘explained’ by the regression line / HHId 'P i =TT FHTIYE0T G GRT W B

St 8
2. The rankings of the two variables is totally different / a =R} T AT ﬁ@'_d = @?ﬂ %

3. The rankings of the two variables totally agree / a1 =R P Aforar U;Uf??q I TgHd giat %
4, The rankings of the two variables partially agree / a1 =R Bt AT 31ifres ® UV TgHd gidl &

Correct Answer :-

« The rankings of the two variables totally agree / ?:;Pf R B Qﬁr&‘f E[UTW I geHd Eﬁ?ﬁ %

7) The economist who popularized indifference curve approach is: /
SeraT as eRHIU A Ae i a1 st e §:

1.J. R. Hicks /9. 3R, fga

2. Paul Samuelson / 4fd @'@Q?\‘:ﬂ

3. Simon Kuznets / R W

4. Alfred Marshall / 3@hs A=A

Correct Answer :-

« J.R. Hicks /9. 3R, fgaq



Which of the following is described as the change in savings per unit change in income? /
Frufafea 3 3 s sma o s9a ufa go15 # uRada & wu o afdfa foar mar g2

1. Marginal propensity to consume (MPC) / SHid SUHNT Ui (THURT)

2. Marginal Propensity to Save (MPS) /%ﬂrrmaaﬁuqﬁf )Q'J:I'Cﬂ'Qﬂ(

3. Average propensity to save (APS) / 3TId saId Uiy yudies(

4. Average propensity to consume (APC) / 3d Wud El?jﬁf )Q'm(

Correct Answer :-

« Marginal Propensity to Save (MPS) /Fﬂﬂﬁ@ﬂﬁﬂ?ﬂ%{ )QTI'Cﬂ'W(

9) Which among the following is true with regard to Deadweight loss? /
frfaf@a 3 @ o= a1 smfayfa i & Gl A qa @2

1. It affects only the consumer surplus and not the producer’s surplus. /WWWWW@HWW% 3R
RECEACREIE

2. It affects only the producers surplus and not the consumers surplus. / g Had Sdlcd ddd aﬁuwﬁam% 3R

IUHIST g9 Dl T8t

3. It affects both the consumer and producer surplus. /q_s'?)'q‘l-l\ldrll ddd dYT SdTadh ddd ti\lﬁ\lia’ﬁqlﬁmm%'l

4. It does not affect the government revenue. / dg RSB SR T UHTAd WWT %I

Correct Answer :-

« It affects both the consumer and producer surplus. /Q_G'B'q‘l-i\ldril ddd dYT IdTah ddd Q\H\I.ﬁm-l'lﬁﬁmél

10) Which among the following is NOT an adverse environmental effects of faulty utilization of water sources? /
I Al & glugad U &1 fAfefad o & @ fawdia wafarofta gua a8 82

1. Adverse environmental effects of big dam /EI% it & faudia vafaoig uya

2. Salinity / <IdUIdl

3. Destruction of Habitat / Eﬂ?ﬁﬁﬁ e &1 7% g1

4. Subsidence of land due to excessive depillaring / Jfa=rg Ay & HROT H&l h] Hddad

Correct Answer :-

« Subsidence of land due to excessive depillaring / 3R fa¥dH & HROT YfH FT srada

11) Which among the following not a function of RBI? /
e & 9 o9 a1 o1 sRateng #1781 32
1. Bank of issue / FIIC UTcIe Sb



2. Bankers bank / S| T §b
3. Controls the foreign exchange rates / facit fafrma <=1 @1 g

4. Banker to the government / THR BT S

Correct Answer :-

» Controls the foreign exchange rates / faezft fafg <= &1 e

12) Which among the following is not an objective of tax reforms in India post 1990s? /
frafofea % Q&9 91 YR ¥ 1990 & X6 & J16, P JURI BT TP Se¥49 81 82
1. Customs duty to be reduced to increase exports / fafa o q@ & ﬁ"l‘! i Reh H HHt BT

2. Shift from over dependence on indirect taxes to direct taxes / 3T BRI R 3fa FRar @ e 1 R Fvkar &Y
3R RYTHIARUT

3. Shift from over dependence on direct tax to Indirect tax / e &1 IR 3 AR T smaey w1 R RRar ot 3R
RJICIGNY|

4. Accelerating economic growth with stability / BTG & 1Y @RuRid sifdfes q@

Correct Answer :-

« Shift from over dependence on direct tax to Indirect tax / e B IR 3 FAHRar T e w31 iR AR &Y ek

13) Which among the following is not form of foreign investment? /
frafafaa 9 3 o9 w1 fawe fe=h Few @1 sfisa T8t o2
1. Foreign direct Investment / W&fﬁ%‘\’ﬁﬁaﬂ

2. Inter commercial loans / 3fd: GO S 0T

3. External commercial borrowing/a@aﬁm3?ﬂ?

4. Inter- Governmental loans / 3{d: QMDY F0]

Correct Answer :-
« Inter commercial loans / 3{d: CHUIRES U]

14) Which among the following is not an example of shift factor in respect of price-demand relationship? /
e % 3 o1 a1 fiee geu-uiv ey & e # Rive thaex &1t Iereur T8 32

1. Decrease in demand for Samsung mobile phone because of the increase in price from Rs.7000 to Rs.7500. / JAET Iﬁ‘a’l%?f
& ged ¥ 7000%. F 7500%. 9P JfG B & HRU IUDH! AT T HH!

2. Increase in demand for Luxury cars of BMW after a person wins a lottery / ot safad & drest Gﬂaﬁﬁé’l@maﬁ
ORI BRI B A H 9fG



3. Increase in demand for tea because of the increase in price of coffee /W%Wﬁg@%WWﬁWﬁg@
4. Drop in demand for cars due to the increase in Petrol prices /ﬁ@ﬁ%ﬂ@aﬁ@f HRI DI G711 H FRTdC

Correct Answer :-

o Decrease in demand for Samsung mobile phone because of the increase in price from Rs.7000 to Rs.7500. /@WT

oeTSd & e | 7000%. ¥ 7500%. TP gl 811 & HRUI 3! T H Bt

15) Which among the factors mentioned below will cause changes in dynamic equilibrium? /
Al 3 Swifed sR®! § @ S 91 SRS Mfaid G § 9Ga1d ST HRUT GRIT?
1. Price and Income onIy/aﬁF‘[H\F{[ 3R M

2. Price, Income, Technology and Output / Hc4, 3114, SIEIRICAKH) 3f13cyc

3. Technology and output only / WW 3ﬁ? 3{13cYc

4. None of the above /c{crﬁaﬂ e ﬁ's‘:ré’r

Correct Answer :-

« Price, Income, Technology and Output / Hcl, 3, SIEIRICAKH) 313cyc

16) The first person who made use of a combination of census of output and census of income methods for estimating
national income in the pre-independence period in India: /

e o 9 fore safaa = Tadsrar @ qd I 3 & S e & foT SiTeeye Y |V 9T Mg Usiaal ot
UM & HAISI &1 IUGRT BT oT:

1. Findlay Shirras /fﬁv_sff AR
2. William Digby / faferas fawatt
3. R. C. Desai / 3.4, aﬂ'l_st

4. V. K.RV. Rao/ dl.%.3MR dt. Y19

Correct Answer :-
« V.K.RV.Rao/dl.&.3MR.dl. Id

17) Given the price of two goods, if an increase in consumers income leaves the consumers demand for a commodity
unaffected, the commodity in question is a: /

gfe &) axgail & Yo 3 gu ¥, ok afe Syl 1 3ma # 9fg & Suriedr #1 avg & 1w | srwvifad wedt
g auA A A aeg e

1. Luxury good / ﬁ"@—ﬁﬁ‘iﬂ Cdl a¥d

2. Inferior good / 3{UPTC di
3. None of the above / B'CREIEH o3 aﬁ‘% Tal



4. Basic necessity / HAHd ARG dl

Correct Answer :-

« Basic necessity / HAHd ARG DHdl

18) The unemployment rates by levels of education are highest among: /
fR1anm & wRi & \re e & Ao RS §R SHaH §:

1. literate up to primary/mmww&m

2. secondary/ﬂT?ﬂm

3. graduate and above / ¥Id Q_d $H@I HUR

4. higher secondary / 3T} Hreafis

Correct Answer :-

« graduate and above / TId® U4 THH HW

19) Which of the following is the most economical source of power? /

frfafea d @ o= 1 fagya dia Jaifie v g?
1. Hydel / STIfdggd

2. Solar /AR

3. Thermal / HWHI

4. Nuclear / TN

Correct Answer :-

« Hydel / Sifdggd

20) Demand curve under demonstration effect is: /

YERI THTE & Sfata /it 9 fre giar o
1. Upward sloping / S| DI 3R At

2. Horizontal / &fcret

3. Downward sloping / =il &1 3R gefai

4. None of the above /Wﬁﬁmﬁ

Correct Answer :-

o Upward sIoping/Wﬁ 3R gaai



21) Entrepreneurial skills are: /

1. Variable in the long run / 3" ®ra o aRkad-g

2. Variable in the short and long run / PHTA aUT SrddId H gRad-a
3. Fixed in the short run / 3{cUdhTd A fRR

4, Fixed in the long and short run / BT TUT 3rcumTd # fRRR

Correct Answer :-

« Fixed in the long and short run / SrEeTd TYT 3feddTd H RR

22) Consider the national annual plans and choose the incorrect answer. /
TSN it Terrai W IR Y SR Terd IR g |
1. Three consecutive centre annual plans came after third plan. /
o FRAR ity afiies IS, Jitg aiei1 & oTe 33|
2. Three consecutive annual plans correspond to the years 1966-69. /

I FRER a1ftfes aremd, aef 1966-69 F Tafdd &

3. The weak financial situation and low morale after defeat by china led to plan holiday in the form of annual
plans. /

N gRIBR & 91¢ HHGR a0 T 3R & Aied & URume I aifties Te13il & =9 H T forme
S

4, Constitutional crisis was other main reason for the plan holiday. /

HauTes Fave, TIoTT faRTH &7 30 H- HRUT 7|

Correct Answer :-

 Constitutional crisis was other main reason for the plan holiday. /

Gt Have, TSI faRTH &1 3 T HRUT AT

23) Green box, amber box etc. are related to which of the following? /
W4 9T, vrR aiaq enfe fAufefaa & A foaa deafta 82
1. UNCTAD / STUR Ud faehTf UR Hgere 1Y Tl (JUARIEITLSY)

2. UNFCCC / T XY STaarg uRad SHe (quAThi)
3. WTO / fa% SR W16 (Sscian)

4. GATT /I



Correct Answer :-

. WTO / fa% SR 118 (Ssclaf)

24) The first official attempt to calculate National Income of India in 1949 was made by National Income
Committee that was headed by .

1949 H I BT TP ST P MU HIA BT UYH TTUBTRS YA, IS S widfa grr foban wan
o1, forapt sremaran BEJKT

1. Dadabhai Naoroji / alaluﬁﬁﬁ\‘:ﬂ
2. Sardar Vallabhbhai Patel / HXqIX av—crulnéqéa

3. P.C. Mahalanobis / UT . IIBW:N%H
4. V.K.RV. Rao / G1.&. 3R 1. @

Correct Answer :-

. P.C. Mahalanobis / TT. 3. IIE'IFFnﬁF

25) Which among the following is NOT a reason mentioned by the eminent agriculture scientist - Dr. M.S.
Swaminathan for the massive success of the Green Revolution in Punjab in the mid sixties? /

TR $Y a7, ST TH.TH. WRIHTYE gRT 164 a%16 & 7 ¥ vorg # gRa wifa &) Saved awadr &
forg fFafafaa & 9 5w srur &1 Iwa =181 fvan war ur?

1. Rural communication and electrification / UTHITN TR TUT faggciiabrum
2. Owner cultivation resulting in long-term stake in land / XA aTelt Wit & giROmHt 3-‘[&[13[ Eﬂ%lﬁl?ﬁ NUIKHE]
3. A dynamic agricultural university / Gfohd SN fayfasmera

4. An effective Panchayati Raj system / GHTdl U ISl SHaAT

Correct Answer :-
« An effective Panchayati Raj system / GHTa! U 1ol Sga®IT

26) An incident when low / zero interest rates fail to stimulate consumer spending and monetary policy becomes
ineffective is known as: /

TS YT g SEATd] & oI B3/ STl ¢ ST @d &1 HieaTied B4 # fawe g1 sl € of fifge ifa

1. None of the above / Wﬁ@aﬁéﬁ
2. Liquidity Trap / dXeldl Ilel
3. Liquidity Gap / dR&dT 10

4. Liquidity Risk / IR SIRGH



Correct Answer :-
 Liquidity Trap / dXeIdl SITet

27) Which of the following is NOT the direct advantage of FDI in Multi-Brand Retail? /
Ao s fRea & gwatens &1 Wt ary Fufafea d G e w8 72

1. Small and medium enterprises will have a bigger market, along with better technology and branding / é@ﬂ? E?Igﬁﬁlﬁl'ﬁ 3R
FIST & Y BIC 3R TeaH A BT Th FST R R

2. It will be creating more employment opportunities / Jg 3fIH AR & 3EIWR I BT

3. It will help increase the Forex reserve of the country / Y <R & fday Hal HSR o Q'@ g

4. It will cut intermediaries between farmers and the retailers thereby helping them get more money for their produce / g

T 3Tk GaxT fasharsfi & ata TRl &1 GeTdHR SHd ST & [aE 3! 3% 011 UM & Hag HuT|

Correct Answer :-

o It will help increase the Forex reserve of the country / Y Q¥ & fder el HSR EE| q@ g

28) Which of following is the difference between value at market prices and value at factor cost for a national
income aggregate? /

TP 3T TNT & T HRS e IR 94 3R 19k a8 W 71 & §i9 oie Fafafea d d s arg?
1. Value of indirect taxes net of subsidies / GfoS! o SUIE] BRI BT R HIH

2. Value of consumption of fixed capital / EIj]| q;\_rﬂ &1 GUd BT A

3. Value of net factor income earned abroad / fac=1 & 3ffofd R& PRI HY dI HIT

4. Value of subsidies net of direct taxes / TT& BRI B R <1 &1 R HIH

Correct Answer :-

« Value of indirect taxes net of subsidies / TfoS! & U] BRI BT R HIH

29) GDI is applied to measure the: /

Stdteng fr=1 &) A & forg uge g &:

1. Level of poverty / fAgHar &1 &R

2. Gender disparities / foitT 3menfya YeumE

3. Inequality in the income distribution / 31 & faaRol H AT
4. Social development / G fabrd

Correct Answer :-

« Gender disparities / feiiT 3eTRd HaHt@



30) Under which agreement of WTO, the intellectual property is related to? /
WTO ¥ {5 THgid & dgd, difss duar e o A frad wafta 2

1. MFA

2. TRIM

3. TRIPS

4. GATS

Correct Answer :-

« TRIPS

31) Under MGNREGA who selects the Social Audit Committee? /
AT & qgd, QHfoe AaTuI&or Afifa o1 999 S $3d1 82
1. Gram Vikas Department / U1H faeT faumT

2. Panchayats / UTId

3. Gram Sabha / UTH HHI

4. Nyaya Panchayat / =T UdRId

Correct Answer :-

o Gram Sabha / ITH JHI

32) A consumer’s demand curve can be obtained from: /
SUMHIEIT BT | a5 31 | e fpam o1 apert &

1. Price- consumption curve / Hed-dUd dep

2. Engels curve / TSl sh

3. Supply curve / U;%W

4, Income-consumption curve / JI-QGYUd deh

Correct Answer :-

« Price- consumption curve / Hed-dUd deh

33) Who wrote the ‘General Theory of Employment, Interest and Money’? /

SRR, ST 3R Y ("SR WY 3ITh SWRHAE, evie s HAlY) fras forar um?



1. Ragner Nurkse / IR TAHY
2. Lionel Robbins / feraie fag

3.J. M. Keynes /S1.TH, BT
4. Alfred Marshall / 3Shg HIRIA

Correct Answer :-

« J. M. Keynes / @[Q'q P

34) When two kinds of money are in circulation, the problem before government is to keep them
simultaneously in circulation, this problem is explained in which of the following theory? /

W9 g) a8 P! T¢I | gidl 8, d IRPR & THA U1 IE gieit ¢ P 37 a9 § v ary 3an
WY, g wat g o & for Rigia o s 715 82

1. Gresham’s Law / IR0 & (a9 o

2. Marshall’s Analysis / AR & faRawor #
3. Leontief’s Model / fe13fie® & Aled o

4. Say’s Law / ECATUER:

Correct Answer :-

« Gresham’s Law / I & g9 o

35) Depreciation means: / [dHc &1 = GRfaT‘lT %:

1. Closure of a plant due to labour trouble / SffHh U o HRU G4F Pl sl

2. Closure of a plant due to lockout / dIITsial & BRI YIF B dat

3. Loss of equipment over time due to wear and tear / fuifed gmg & iar Iua=on | B ara RCASIE]

4, Destruction of a plant in a fire accident / 3T T & HRUT I ﬁ_@ﬁaﬁﬂ 7S ps)

Correct Answer :-

 Loss of equipment over time due to wear and tear / feifed T & Htar Ius=on § giH aran RCAIE

36) Seigniorage could lead to WASISIE ﬁIWT-EF‘ITg Wﬁﬁ) &
BRO| GRS

1. Import profits / SHTITd olTH

2. Decrease in aggregate demand / cl HIT o o

3. Hyperinflation / 3{fcH&RWBITd



4. Appreciation of currency / H&I T HTHIT

Correct Answer :-

« Hyperinflation / AT

37) HDI is developed by: /

TSI 1 & gRT fasRa ot ¥ 8:

1. Michele B. McAlpin / e off. Awsifer

2. Morris D Morris / AIRE St AIRY

3. Mehboob Ul-Huq / Hggd 3-8

4. Montek Singh Ahluwalia / Hice Rig srgaarferan

Correct Answer :-

« Mehboob Ul-Huq / Hedd 3d-gh

38) The theory of distribution deals with: /
v 1 Rygia o @ ey vEan @:

1. None of the above / dqfid'd =k 0|'>\I$r'_'|€[

2. Personal distribution of income / 3T ®I AfFTd ﬁﬂTUT
3. Functional distribution of income / T ] WITIW faaror
4. Sectoral distribution of income / 314 DI s faaro

Correct Answer :-

« Functional distribution of income / 3T DT Wm faaror

39) The inequality of income can be measured by using : /

3T P SRAATTAT BT HIY 1 BT SUANT HX b foaT <1 Tl o:
1. Lorenz Curve /FIﬁT:T deh

2. Standard deviation / AT T

3. Mean / HI¥]

4. Mean deviation / A% faaeH

Correct Answer :-

o Lorenz Curve /FlﬁT:[W



40) The optimum tariff is the tariff which: /

35N Yo 98 YoP aidl g ol
1. Minimizes imports / 3{TATl Dl YAdH pdl g

2. Maximizes country’s foreign trade / o o fqe=f R & I=aay AHr d& deldI %
3. Maximizes country’s welfare / T BT SHUHIH BTl BT %
4. Maximizes the earnings from tariff / {[ch I fﬂﬁ aTelt 3T B I=add AT db deldl %

Correct Answer :-

« Maximizes country’s welfare / %QT T AHfTHTH B0l HIdl %

41) The phenomenon wherein which the individuals try to save more during recession which ultimately
leads to a fall in aggregate demand and thereby a fall in economic growth is known as .

9% YT e ded aafe 6l & QR S ad $31 &1 HIHRR Hd & PP SR 3idd: o /il
A fiRTac gidl @ ok 3H& wawa=u e A A fiRTae 31 CFASIGIN]

1. Ricardian equivalence / R&TSa= geaar

2. Arbitrage / HEI’IT‘R (H’lﬁaﬁ)
3. Pigou effect / tﬁ"lq‘l-ﬂa

4. Paradox of thrift / I BT fARILUTHIT (RTSTHRT 31T ITe)

Correct Answer :-

« Paradox of thrift / §Id BT FARIYTHRT (RTSTHT 3T e

42) The law of Equi-Marginal utility refers to: /

oA Sy o1 Ry =1 #1 wefia seare:

1. None of these / $TH & ﬁé 8l

2. Marginal utility of commodity X / d¥g X & HiATd STAIRTr

3. Marginal utility of commodity Y /d¥J Y &I WHd ST

4. Marginal utility per rupee spent in X and Y commodities / X Td Y aﬂ\?'h o g o1 T8 Ufd Suar iAid

Correct Answer :-

« Marginal utility per rupee spent in X and Y commodities / X Td Y aﬂ&ﬁ o g o1 T8 Ufd Suar i



43) The liquidity trap occurs when: / TAIY ST dd 34 gidl & 9d:
1. the demand for money is perfectly interest inelastic. / Jg&T HIT @ TRE I TS 3 giet g |

2. the demand for money is perfectly interest elastic. / &I AT @ dRo @ o] ﬂ\lﬂ Eﬁ?‘ﬁ %l

3. an increase in the money supply leads to an increase in the interest rate. / &I Qjﬁ | q@ I o R A Q@ gIat

gl
4. an increase in money supply leads to a fall in the interest rate. / &I q:ﬁ | Q'@ I o161 &) H RTae 37t %I

Correct Answer :-

« the demand for money is perfectly interest elastic. / &I HIT tj:\P[ e I S A Bl g

44) The comparative costs theory of international trade was propounded by: /
AR TIR BT AATHD AT IGid -1 &b §RT U fbar 7 oT:
1. J.S. Mill/ 91,79, fire

2.].B. Say /SL&L. &

3. David Ricardo / SfaS RaTef

4. Adam Smith / TSH Y

Correct Answer :-

« David Ricardo / Sfdg R&1S]

45) A budget deficit is likely to: /

F9IC °TeT GRT 1 & 1 3t SUIAT 81l 8:

1. Lead to less import spending / 3Td WR g dTdt T A HH g ©
2. Leads to more unemployment / 31 SRISRIRI I~ gIdit g

3. Lead to falling prices / i H fR1aC gidit g

4. Boost aggregate demand / ITdfg® T H gfg gt ?

Correct Answer :-

« Boost aggregate demand / W Ty ?{@ g g

46) A monopoly firm can make losses if: / Wﬁﬁ‘?ﬂ wH B BT&I' G‘f Jbdt % tl'ﬁ':
1. It charges socially optimal price / g IS 0 I L dH HY EISKEG] %

2. It charges high price / dg 3=d Hcd TSl Bl %



3. It charges monopoly price / g TDTYPR a4 EINEZGIN

4. It charges moderate price / Y HEH HcU TSl Bl %

Correct Answer :-

« It charges socially optimal price / T8 THINIG 0 ¥ F&aH Yoo ATSf BT §
47) Total product will be maximum when: / P& SUTg S=dH aTIT oid:
1. A P is maximum / \’rﬁﬂﬁ Jdlq S=dH él‘ll

2. M P is negative / i IdTG BUMHD él‘ll
3.MPis zero/mmwm
4. MPis maximum/?ﬂﬂmmmm

Correct Answer :-

« MPis zero/?ﬁmﬁm?fqa'rﬂ

48) Total utility will be maximum when marginal utility is: /

Fd I a9 S=a ghft, Sia Wi Sy e g
1. Positive / YATHD

2. Zero / [

3. Negative / T RIHD

4, More than one / Tdh T 3fh

Correct Answer :-

49) Utility is: / STNIAT B:

1. A subjective concept / Udh [CLERIRERE SRR
2. A moral concept / b A srgyrRon

3. An objective concept / Udh aﬁﬁ'@ SIAYRU
4. A neutral concept / TP IS SGYURUN

Correct Answer :-

« A subjective concept / U fANATHD SGYRUT



50) Utility of a commodity means: / 9¥g ®I SUAIRICT BT dATUY &:

1. None of these / Eﬁﬁﬁﬁéﬁ

2. The excess of satisfaction over the price / H{ed & JIW ﬂ'gﬁ’ Rl eas)

3. The price the consumer has to pay / I GRI HITdI foar S aren HY

4. The want satisfying power of a commodity / d¥ G| scm-tﬂ%f R B Ulad

Correct Answer :-

« The want satisfying power of a commodity / d¥q G| scm-tﬂ%f R B Ulad

51) A scientific hypothesis, such as the influence of increased carbon dioxide emissions since 1945 on global
temperatures, is tested by: /

TP TP IS U1, 99 fh afYe araa™E IR 1945 T 9¢ §U BT SISSATTATSS SoTsi-] BT THTT,
= & gr1 wiféa fear sman 8:

1. Considering whether the prediction accords with common sense / g R e fob S{FH IdE;IPQOb
§fS & IEU G

2. Checking the predictions of the hypothesis against relevant data / Yog 3¢l & [dvg IR®TT & &Fﬂ:l'lzﬁ Gal
BIEC

3. Checking out what the majority of experts think / g UdT ¢[[] b f sifdeier faLis oar Id §

4. Agreeing with the majority view of experts, provided the majority is substantial, e.g. 75% agree with the

hypothesis / faRISRIl & TgHT & VDIV | HeHd gId gU, TR b IgHd UATW 81, IaIex0T & [Tl 75%
GR&b T & 1Y GgHd 8l

Correct Answer :-

« Checking the predictions of the hypothesis against relevant data / Tag 3¢l & [dvg IRSTT & &Fﬂ:l'lzﬁ Gal

52) What is the slogan of 121 Five Year Plan? / 1231 UgadTa GIeT &7 RT T 22
1. “Rapid Employment Generation and Inclusive Growth” / @Rd AR ol 3R grTaeh faswra
2. “Faster, Sustainable and More Inclusive Growth"/ "aTST, Jdd 3R 3HfIH gaTash e

3. “Employment Generation and Sustainable Development" / ISR SNE 3R Hdddq EEQRE

4. “Inclusive and Sustainable Growth" / "FHTIRR 3R Taq fasmr"

Correct Answer :-

o “Faster, Sustainable and More Inclusive Growth"/ "aTST, qdd G?N 3ffYrep JHAR famTrg”



53) What is the Inflation? /

geTepifa a1 3?2

1. Reduces the prices of goods and services / a¥g31 Tad Jarsfi & qral o HT
2. Reduces the cost of living / S &t ANTd B HH Bt %

3. Reduces the price of products / 3dTG! & G B HH Bt g

4. Reduces the purchases power of a currency / G&I &1 59 Xfdd &l HH Bl ?

Correct Answer :-

« Reduces the purchases power of a currency / J&I &1 4 Qfad Bl HH Hcl &
54) What is meant by fiduciary issue? /

T gET & 1 gaad 8?2

1. Paper standard / DTS A (W @E‘s‘)

2. Issue of currencies / H§T31;T CARSIRIGGI

3. Gold standard / XUl & HF& (Th?e;' QB'SC)

4. Silver standard / T57d & A (R WS9)

Correct Answer :-

« Paper standard / BTl HHS (TR EI3)

55) Normally when price per unit of time falls: / HTHII =Y ¥ o9 ufd ETFI_S: Y IUEG] %, dd:
1. None of these happens / 3_"I'af H @ 3] 1t :@DT Eﬁ?ﬂ %

2. Quantity demanded remains constant / AN &1 AET RR Q_E:?ﬁ %

3. Quantity demanded increases / HITT Gk Q@ IR

4. Quantity demanded decreases / AT &1 HEAT f[ FH Eﬁ?‘ﬁ %

Correct Answer :-

« Quantity demanded increases / HIVT AR EIRE] Q@ Eﬁ?ﬁ %

56) National Council of Applied Economic Research (NCAER) was established in the year ./

TP SrgugeE anfder ST URuE (TRAITSSIR) o1 RITUAT a9 Hgs A
1. 1949

2. 1956



3. 1961
4. 1973

Correct Answer :-

» 1956

57) Non- Agricultural Products Market Access is part of which organization? /
R-PN IATE IR UgH fpd Hire- o1 REr g2

1. IMF /3IcRI§T el BN (AESTATS)

2. World Bank / 3% 8

3. United Nations / TG MY
4. WTO / T8 S0TUR T (Ssegeian)

Correct Answer :-

. WTO / fo% SR W&+ (Sl

58) Which of the options is correct regarding “Tariffs”? /

“Tep” AT "SRG & IR A P19 A1 faPped 751 82

1. It increases the quantity of imports. / dg ST &1 HEHAT & EET?[ %I

2. It increases government earnings from tax. / I8 TRBR &I B I 814 dTell 31T P! g 3 |
3. It decreases the domestic price of a product. / I8 3dIg DI ‘HQT;LH\T"E[ HeTd ]

4. Tt decreases domestic production. / Jg ‘Eﬁﬁ?ﬁcﬂﬂ? Herd %'I

Correct Answer :-

« It increases government earnings from tax. / T8 TRBR &I B F §H aTelt 3 Bl FId &

59) Which of the following states The Fisher Equation of Exchange? /
frafafed & & o1 a1 i R o1 fafra o1 wftevo fAfdy sarz?
1. MT=PV

2. MY=VP

3. VT=PM

4. PT=MV

Correct Answer :-



60) Which sector contributes the highest share in Gross domestic savings? /
ra & @ B9 91 &9 Tobd W g9d) § S=aH QS a1 22

1. Household sector / ‘fﬁﬁé«ﬁ

2. Government sector / SRR &

3. Private corporate sector / foht HraRke &=

4. Public sector / TASI-d &

Correct Answer :-

« Household sector / EQT"L[&}H

61) Which one of the following characteristics is widely regarded as being an important aspect of
sustainable development? /

fFrafafee & 3 $19 @ ve faxivar @) e 0 3 wiig (RFe) fae & weayef vgq & wu #
A= <t STt 82

1. Increasing consumption expenditure / dedl g3 WUd U

2. Increased levels of saving / sl<ld & d e gu I}
3. Intra-generational inequity / @-WFW[ ESEI |
4, Inter-generational equity / W—Wﬂ g‘@_‘ﬁ

Correct Answer :-

« Inter-generational equity / W—Wﬂ g‘@_‘ﬁ

62) Field study is related to: /
& e A & Haft g

1. Real life situations / aRdfdd Sita &1 Ryl
2. None of the above / B’C@aﬁ HA IS 78!

3. Laboratory situations / TR &1 fyfaal &
4. Experimental situations / UrAIfTe fyferdl &

Correct Answer :-

« Real life situations / IRATA® Sfia- B! FRUaai I



63) Production function relates: /
ST G- Heiftrd e 8:

1. Wages to profits / ﬂTrl_g\'_\ﬁ CARNILES)
2. Cost to input / <INTd Cal *Yc |

3. Cost to output / SIUGED] 313cYc |

4. Input to output / $YC B! 33cYc A

Correct Answer :-

« Input to output / $GC I 3T3CYC Y

64) Intermediate goods are: /Hma'cﬁaﬁ'q ﬁ?ﬁ %
1. None of the above / Wﬁﬁaﬁéqﬁ

2. Part of GDP / SISIU! &1 HFT

3. Part of GNP / SITTUT &T HITT

4. Part of NNP / TGl ST HFT

Correct Answer :-

+ None of the above / B'Eléaﬂ R AR
65) According to the principle of comparative advantage, / - THD <TH CATFAGK-J VR,
1. Countries should specialize in the production of goods that they enjoy consuming. /

SR P 39 axg i & IATeH | fARIWIIdT §TRIA B ATfe ¥ ST STHNT d UiE ¥ dxd & |

2. Countries should specialize in the production of goods for which they have a lower opportunity cost of
production than their trading partners./

<=M DI I a3 b IdTG H (ARSI TR -1 a1e T, e fot 35 31U ARG AIPaR! Bt
JoT & TG 1 HH faIR AT el g |

3. Countries should specialize in the production of goods for which they use fewer resources in production than
their trading partners. /

SR P 39 axg i & ITe | fA=Iwsran g1RIa o ane T, forias forg a som smiies WiiieR! &1 gam
A IdTe H ©F I BT UGN B & |

4, Countries with a comparative advantage in the production of every good need not specialize. /

TR 3! ST b ST B qa-TeD AT aTd o=l B! fA=IN &1 ohexd el gl

Correct Answer :-



« Countries should specialize in the production of goods for which they have a lower opportunity cost of
production than their trading partners./

<=M DI I T3 b IdTe H ARSI TR -l ey, e fot 35 31U ARG AIPaR! Bt
JoT & TG ! HH AR AT el g |

66) CANCELLED

Which is the odd man out with regard to Cardinal Utility approach? /
TS ST TPHI0 & HaYy & SR B 82

1. Steve Walter / &1d dlecy

-~

2. W.S. Jevons / &9, TH. SdIq

3. Carl Menger/mﬂw
4. Alfred Marshall / 3/@Fs ATRIA

Correct Answer :-

. Steve Walter / &9 dicex

67) CANCELLED

R? is the mathematical notation for: / R2 ﬁ'l:T %? ﬁI'Q' Tlﬁ'l?ﬂ'q W %:

1. The Co-¢fficient of Determination / F&RUT &1 Ica

2. The Co-efficient of Variation / faf¥=dl &1 T[0Tish

3. Spearman’s Co-efficient of Rank Correlation / @ﬂ’cﬂﬁq &1 9oft gg-gd¢Y Pl ‘IUW
4. Pearson’s Co-efficient of Correlation / UG %1 qg-TaY LIIGE

Correct Answer :-
« The Co-efficient of Determination / F&RUT BT IIGE
68) CANCELLED

The Economist who classified price discrimination as first, second and third degree price discrimination is .

qeadRRedt _ § RoreiA geu Weura &Y wuw, fedta au g sife & qea Aeura § arffea fFar
1. J.R.Hicks / o131, fgrd

2. A.C.Pigou / T, form3

3. Vilfredo Pareto / fa@ha! tRel

4. John Nash / SIEEE]

Correct Answer :-



e A.C.Pigou /Q’Fﬁ. s

69) CANCELLED

Child Marriage Restraint Act was in i

a1 faars PRI sftfram ad § urfya gam Tl
1. 1923

2, 1919

3. 1929

4. 1934

Correct Answer :-

« 1929

70) CANCELLED

Which of the following is NOT an example of Non-Banking Financial Company? /
frafafee & & #1991 IR 3HT fawfi sut o1 Saerur 8 22

1. Insurance companies / |1 Hufar

2. Equipment leasing companies / UHUT AORT Hafat

3. Hire purchase leasing companies / Ha-3HYHY T Huf-at

4. Investment companies /ﬁa'QT FHafat

Correct Answer :-

« Insurance companies / STHT HUHTT

71) CANCELLED

Which of the following is NOT a classification of capital market? /
fFrefafaa & @ o9 91 Toft IR &1 affezor a8 22

1. Cooperative banks / W%

2. Industrial securities markets / mqﬁﬁjﬁw

3. Gilt edged markets /W@W

4. Non-banking financial companies ) TR-dfe facia Suf~ar

Correct Answer :-

» Cooperative banks / W%



72) CANCELLED

Which among the following is not a cause of famine in India? /
frefafad & @ o9 91 Rd § S(PTd &1 SR 61 o2

1. Under development of Banking / Sfm @1 sreufaer

2. The destruction of Indian Handicrafts / HRGId SXIRIeq BT A% G-I

3. The new land system created by the British / 3N GRT ffa Tst Q-Iﬁf I
4. The Impact of colonial rule / WWWUW

Correct Answer :-

« Under development of Banking / ST &1 3rcafasrg

73) CANCELLED

According to IS-LM, an increase in government purchases will lead to an increase in output

by i
IS-LM & 3UR, IWPRI Wile d gfes A &RT IaTe ¥ gfs gt
. Acmps

| AGxMPC/(1-MPC)

AG/(1-MPS)
, AGxMPS/(1-MPS)

Correct Answer :-

AG/MPS

74) CANCELLED

When comparing r? of two regression models, the models should have the same: /

S FHTYaYT feRN & r2 B gaA1 Hd 9ug, AR # =1 &1 99HE 81471 siaxa® §:
1. Error term / 3fC-Ug

2. Beta coefficients / §TcT Ul

3.Y variables / Y TR

4. X variables / X d¥



Correct Answer :-

« Y variables /Y ©R

75) CANCELLED

Which of following is not the instrument of the derivative market? /
Fafafaa 3 @ o9 91 gad oiR (Sfkafea urde) &1 A= T 82
1. Forwards / q’ﬁﬁ%ﬂ

2. Options/ fawe

3. Futures/ qxlflﬁ
4. Debentures / fSeTR

Correct Answer :-

o Debentures / %é’aq

76) CANCELLED

Laspeyres index is used in the creation of which of the following measures? /

AR AP TP BT IuanT FuferEd # A few ufvaror & fafor & fear srar 22
1. Exchange rate / [afH3 &

2. GNP / &bl P IATG (ST

3. CPI / SUHIGT S 1A GAHIH (ATUTSTS)

4. GDP deflator / SIS Ul UXBIABRD

Correct Answer :-

. CPI/JUHISKI BIHT Gabich (HUI3MS)

77) CANCELLED

The theory of reciprocal demand in the field of international trade is propounded by: /
SRty omuR & & o urRwuie 9T &1 Rigid 9 gRT wRga fovam o

1. Mill / fre

2. Haberler / %ﬁ?ﬁ

3. Marshall / ATRfd

4. Ricardo / i?@lgi

Correct Answer :-



78) CANCELLED

The monopolistic firm will be in equilibrium when: /
THTIRGR wH (= ot fRAfa & Jga 4 grft:

1. None of the above / B'Cléa?‘[ | @a'ﬂ—if:lg)[

2. MR=MC / MR=MC

3. MR=Price / MR=H¢4

4. P=MC / P=MC

Correct Answer :-
e MR=MC /MR=MC
79) CANCELLED

The term Abbreviated New Drug Applications (ANDASs) is associated with which of the following
institution? /

Hféra & 741 371 TfRB = (ANDASs) Mies, fFrafufad & & fora I S Je1gaen 82
1. IMF / SIcRRTST &1 H1Y (ETHTS)

2. WTO / fd% SR T16 (Ssegciaf)

3. US Food and Drug Administration / 3AReh @1 Ta 3NWfY U=

4. Food and Agriculture organization / 1&g 3R HY TTe

Correct Answer :-

« US Food and Drug Administration / W@W@ SN U=

80) CANCELLED

Which problem is sought to be detected with the help of D-W statistic? /
D-W 3PS P HeTadT T fFd THIT BT YT SRIAT ST 82

1. Multi-collinearity / a‘g’-ﬂ‘eﬁ{@w

2. Auto correlation / ¥d: gHEY

3. Heteroscedasticity / IELEICEINGI]

4. Specification error / ICIRER _ar[%



Correct Answer :-

« Auto correlation / ¥d: gddY
81) CANCELLED

Advocate of the Loanable fund theory of interest is: /

1e ®1 BT g AT Rigia & 9@ta A= 8
1. Paul Samuelson / GTcl a'RIQF\‘:I:T
2. Lionel Robbins / oI Ife=g

3. A. H. Hansen / U.Ud. %T\EFI
4, ]J. M. Keynes /SLTH. DI

Correct Answer :-

« A.H. Hansen /U Ud. %T\EFT

82) CANCELLED

Who among the following has authored the book ‘The Economic Consequences of the Peace’? /
Frafafea & & feam wifa & enfdfe uftom @ soHiTHe Pii-eday e § 1) Jwe fodl 82
1. John Maynard Keynes / S A8 B

2. Barack Obama / SR STETHI

3. Adam Smith / TSH &1y

4. Nelson Mandela / &I HSall

Correct Answer :-

« John Maynard Keynes / S TS B

83) CANCELLED

Price discrimination is possible: /

1. Only under monopoly situation / %dd THIIHR fRUfT A

2. Under any market form / fat 1 IR W= o

3. Only under perfect competition / PHad qvftri?lwuf & Sfaifa

4, Only under monopolistic competition / FHad UPHTYDBR ufawgef & 3fafd



Correct Answer :-

« Only under monopoly situation / %dd THIIHR fRUfT A

84) CANCELLED

In an economy the fiscal policy is more effective when: /

TP doawyT & yee g Hifa siftre uurd a9 gl 8 wi:
1. None of the above/?qgaﬂﬁﬁmqﬁ

2. The smaller the induced change in interest rate and larger the responsiveness of investment to that change /
7ol & H URd aRad= $HER SR 39 gRad= & forg Ha=r & Sarecs! Saral gidl o

3. The smaller the induced change in interest rate and smaller the responsiveness of investment to that change /
TS &R § URd URade HHR IR 39 URad & e Fa=1 &1 Jarecs! $d gl &

4, The larger the induced change in interest rate and smaller the responsiveness of investment to that change /

7o 2§ URd uRkad= sarer 3R 39 uRad= & o o &) Sareeet A il &

Correct Answer :-

 The larger the induced change in interest rate and smaller the responsiveness of investment to that change /

TS & # ORd uRad= sarer 3R 39 uRad= & fou fFaw &) Sarees A il 8
85) CANCELLED

In Cobb- Douglas production function elasticity of factor substitution is equal to: /

?a-mmwﬁwmm@ﬁamﬁwﬁmﬁﬂ%wﬁ

1.0<es <1

2.one/Uh
3. infinity / 3Fd

4. zero / ][

Correct Answer :-

e one/Udh

86) CANCELLED

‘Crowding out’ is more likely to occur when /

PIIFE TS’ B a9 B B 3P THTaAT el & &I




1. the demand for money is interest insensitive and private sector spending is largely interest sensitive. /
T AT 7S] & U Sride-=id 8l iR st &5 &1 Ud HIw! 88 dd ddg-=id &l

2. the demand for money is interest sensitive and private sector spending is largely interest insensitive. /
T AN TS & Ui Gaga=id 8l iR ol & &1 | 1wl 8¢ ad saTel Sfae=id gl

3. both the demand for money and private sector spending is interest sensitive. /
T AT IR ol 83 & @ el gt Yag-=id |

4. both the demand for money and private sector spending is interest insensitive. /
o1 1T 3R ol &7 & d Gl 81 srde=ie gl |

Correct Answer :-

« the demand for money is interest insensitive and private sector spending is largely interest sensitive. /

ST AN ST & Ufd srdde-T=ite 81 3fiR st &1 &1 W w1t g8 dd Tdeite gl

87) CANCELLED

Super multiplier refers to: / GI'I%I'{[UW @t Wﬁ-h DIl %z

1. Balanced budget multiplier / T—Iﬂﬁ’fﬂ ENERILED

2. Capital output ratio /qyyﬁ—dé‘lld"l STUId

3. Interaction of multiplier and the Accelerator / I[UTdh T b P! URWRSD fobar
4, Reciprocal of the marginal propensity to consume / HHHid STHNT EIQ'[%T P URITRSD

Correct Answer :-

« Interaction of multiplier and the Accelerator / T[UTh T dXch DI URTRSD fobar
88) CANCELLED

If the supply of loanable funds is highly inelastic, an upward shift of IS curve can be achieved
through ./

gfe BT 9 HI Bt gfef i 3reia g, df ST a9 3T HW 3t 3R e
ERT 9T foar o Jhar g

1. A reduction in fiscal deficit / ITSIHINIT OT¢ H TeTd

2. A reduction in interest rate / TSI G H U9
3. An increase in government purchases / WHRI Tl o Q'@
4. An increase in tax rate / PR G H Q'@

Correct Answer :-



« An increase in government purchases / WHRI W H Q@

89) CANCELLED

Say’s law states that: / ¥ &1 fraw e siftroaea s=ar 8:

1. None of the above / B'Elé_cﬁ | ﬁﬁéqﬁ

2. There is no such thing as a free lunch / ﬁﬂ?m'_ i a@ ﬁ_sf Eﬁ\_rf ﬁ%ﬁ?ﬁ

3. Supply creates its own demand / Qj%f 3O HivT Wl '{jlr\\ﬂd Al §
4. Demand creates its own supply / HT 3O tﬂﬁ@q Hf\lﬂ?[ GGl %

Correct Answer :-

« Supply creates its own demand / 11% 3T HiT W {jf\\ﬂd Bl %

90) CANCELLED

India has the largest number of livestock in the world. Which of the following is the highest in number? /

g ar & 999 oiftre uxpeel Y e WRd | ¢ | FAfafed § € waffie den feaet 32
1. Buffalo / 94

2. Sheep / ‘ﬂ's’

3. Goat / S]]

4. Cattle / HA=R

Correct Answer :-

« Cattle/ Ha=N

91) CANCELLED

The term Extended Fund Facility (EFF) is related to which organization? /
fwnfya v gliw (Suwew) T, frw wre @ wWefta 32

1. International Monetary Fund / @W@HHQTW

2. Financial Action Task Force / fo<iia z1'7|§71|'|_sc W

3. World Bank / fa% d&
4. United Nations / GG RTg

Correct Answer :-

« International Monetary Fund / GI?ITT@HH?TW



92) CANCELLED

The 2014 Nobel Prize in Economics was awarded to: /
IdRE # 2014 FT Taa REHR =1 Y g mar ¥

1. Alvin E. Roth / Tfed . IR

2. Paul Krugman / uid @'El:[

3. Lars Peter Hansen / (‘1N-(I‘ ey %'@I"I

4. Jean Triole / S5-I E\’:h@[

Correct Answer :-

« Jean Triole / S fg3fial

93) CANCELLED

The sample variance estimator 72 follows: /
A ARG TRITER 72 P 1 wiel wea &
1. F- distribution / P-fdcR0T

2. Chi-square distribution / ao‘rs‘-aﬁﬁaw

3. Normal distribution / TTHT=I faaror

4. t distribution / t faaRTT

Correct Answer :-

« Chi-square distribution / aﬁrs‘-aﬁﬁ?rm
94) CANCELLED
The fiscal policy multiplier is larger in the Keynesian IS-LM model if: /

SR 15-LM Aisa A Terenita Y qure waer g B, afe:

1. The less interest elastic is the demand for money /

¢ & o HH TS AIER (3% saied) I 8l §
2. The more interest elastic is the demand for investment goods /

frawr axgaft & fore Sifde =T dARIeR (3w gaie®) A gidl §
3. The more interest elastic is the demand for money /

¢ & foIY 31 SIS AR (3 SAReD) AT gldl o
4. LM curve is vertical / LM 9% $&feR 8la1 8




Correct Answer :-

« The more interest elastic is the demand for money /

¢ & forT 31l o WEeR (e saIfed) AT Bl &

95) Currently, which one among the following sector has attracted highest FDI inflows into India? /
gduE ¥, Frafafea & & foa 87 7 wRa # |affie twetens siaafs &) smefia faar 82

1. Iron and steel industries / g T4 d I

2. Tele communication / g3 IR

3. Food processing / TTe] UEXHRUI

4. Chemical industries / X® IR

Correct Answer :-
« Tele communication / G HIR

96) Price elasticity of supply for a normal good is ./

TS A a5y & e off 9t geu A gt 8l
1. Negative / BUMTHD
2. Neutral / 3G

3. None of the above / \‘SLI{-EOM oy Oh\lir:lﬁof

4, Positive / YdTHD

Correct Answer :-
e Positive / YITHD

97) Which of the following states has the highest average size of an operational holding in India? /
yRd ¥ fF=fafeaa # @ f5a =g & uRareq e QR el (STRRFT gifes ) &1 S=ad 31ud PR 82
1. Rajasthan / XISTRJTT

2. Haryana /Eﬁ'EITUTI

3. Gujarat / I[eIRId
4. Punjab/tiﬁﬂ_d

Correct Answer :-

. Punjab/tiGﬂTS[



98) Which among the following is NOT a limitation of National Income estimation in India? /

frafefaa # @ o uRd § Iy Mg & nda o1 Jar T 82

1. Non availability of data about the Income of small producers / <Y IdGH] D T & fawg | G-Flib_&ff P SRENESG]
2. Absence of data on Income distribution / 3T fddRUr ¥ Tafdd &I'ITib_EﬁW HHId

3. Absence of estimates on crop acreage | THOd & IHd T Gafd B! ol 3THT

4. Un reported illegal income / W\@@Hmw A

Correct Answer :-

» Absence of estimates on crop acreage / U & IHd Y Gafd STHa-] ol 3HTI

99) Which among the following states leads in Density of Population according to 2011 census? /
2011 F1 FTHIVAT & ER, =1 § A I A1 390 S e 99 § 3yoft g2

1. Uttar Pradesh / @R UG

2. Bihar/ﬁ%ﬂ

3. Kerala / B%d

4. West Bengal / afge &me

Correct Answer :-

. Bihar/ﬁ%ﬂ

100) Mark the odd man out with regard to Pure competition: /

g ufawuyf & ded A srira fRafRa #v:

1. Homogeneous product / HX™U Ul

2. Free entry and free exit / Haﬁm @T%ﬁﬁ'ﬁ

3. Large number of buyers and sellers /?@ﬂwﬁaw ICERIEIEIRIBESLE

4. Absence of transportation cost / qﬁﬂfﬂﬂmﬁ Gl \Hﬂtﬂﬁﬁ
Correct Answer :-

» Absence of transportation cost / trhaﬁam P Hﬂq@ﬁ



